Aufgabe 2

<) DQJ ber : /fé—X?Zo & A6 axl
& [4(>]x]
= Df::{xélﬂ (x 1<%

~—

/ - —Zx ol
&Y /2//44")‘2 —/2,;(-2'/—':0

= 16X = 2/E x (()?
=/ "fé—;(L = 57)(1
o 16 = qxz

=y YAedt -+ T

S l/ﬂ;é’ —+E\/_f
= -

< v =2 5/7

ProLe EL‘)( A~ A X, 1'-_% LAJAL\_,;r—
A-(=2x

" 16—x* (“’)“‘)5)"274‘4%7)
]C (x) =~ 46—, 2 —
P.3
_ = (16 ~xY) —~ x*° Y

(16—x']"72 = {E-~x3?)3
wa fﬂﬁ)#@ it foe =2 loholis Crbeon-
ot it f($)= 6 Sy
= 3/2+4 V7 =347
=6.243

Aufgabe 2 Seite 2



Aufgabe 2 (Forts.)

Mittwoch, 23. Februar 2011
07:11

b am = x-bh /g ' = D
& x-b4 = ye-i (Ol
=  (x-4r*=6-x
& xt- Fx+46 = £ —x
< x1-Yx +10 <O
= x’—?wb(;)'-_% +% =
& x-3)" = &

& x-F =t

Aufgabe 2 Seite 3



